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A 173,175 A
B 81, 441
poq 91,734 A
g 13,824 %
st 21FE D AOBE R
E: % PRROARBE 1AM B68%T)
& &t B g4 & &t B g
H 4 102 44 58 575 291 284
52 3 = 139 73 66 1,000 504 496
- 1 i -37 -29 -8 -425 -213 -212
2 23 310 154 156 2,455 1,255 1,200
gz | RAfhTHETHT 270 125 145 1,783 853 930
Al 2z 14 9 5 44 28 16
*Ai =t 594 288 306 4,282 2,136 2,146
?gf] =R} 222 115 107 1,918 1,027 891
gt | & | BNt ETH 284 143 141 1,926 951 975
gl 2 o 13 10 3 61 44 17
B 519 268 251 3,905 2,022 1,883
1 i 75 20 55 377 114 263
A O & & 38 -9 47 -48 -99 51
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b3 #H 73, 824 173,175 81, 441 91,734 38 -37 15
% B2 ih i 19, 956 46, 543 21,169 25, 374 9 -3 12
+ Z Br 585 1,349 640 709 -4 1 -5
4BAF—TH 260 627 283 344 -3 0 -3
F#BAE-TH 160 380 162 218 -1 -1 0
4BE=TH 275 672 296 376 1 0 1
4BAFEMTAH 364 873 17 456 4 -1 5
4SBERTH 240 580 264 316 0 -1 1
4BFENTH 470 1,069 454 615 -5 0 -5
Z B = 1,187 2,152 1,275 1,471 0 -4 4
mEHMA—TH 253 612 284 328 5 0 5
mEA=TAH 146 380 162 218 -5 -1 -4
£/ F—TH 504 1,106 478 628 -4 2 -6
E£/TFZTH 186 399 182 217 4 0 4
£/ TF=TH 245 554 266 288 0 1 -1
£/ THTH 347 761 346 415 -5 0 -5
£/ TFTARTH 39 94 44 50 0 0 0
£ /J F 19 42 19 23 0 0 0
mAS®—TH 206 424 182 242 0 -1 1
RAAXZTH 158 370 166 204 -4 -1 -3
RAX=TEH 130 315 152 163 -2 0 -2
mAB/MTH 249 569 252 317 1 0 1
INET—TH 135 264 121 143 2 0 2
INETZTH 440 1,083 469 614 -4 -1 -3
INET=TH 250 544 236 308 2 0 2
KET—TH 432 920 405 515 3 0 3
KET—TH 5N 1,233 546 687 -1 -2 1
KET=TH 376 835 372 463 4 0 4
KET@TH 387 952 441 511 0 1 -1
KETETH 305 723 350 373 3 1 2
KETRTH 185 511 234 277 0 0 0
KETETH 88 232 106 126 -1 -1 0
MAKRE—TH 437 1,009 461 548 3 0 3
MARE_TH 425 980 458 522 18 0 18
MARE=TH 609 1,472 676 796 -3 1 -4
MAREMTH 261 625 295 330 8 -2 10
MARERTH 558 1, 391 645 746 -6 0 -6
MARERTH 483 1,162 558 604 -4 1 -5
RLEAE—TH 493 1,002 462 540 1 1 0
HLEAHEZTH 783 1,713 762 951 -8 0 -8
HEHE=ZTH 385 878 411 467 3 -1 4
B AEMTH 364 862 406 456 -2 -1 -1
il Bk HT 497 1,096 470 626 -1 0 -1
#® B H 331 843 374 469 2 3 -1
{EBI—TH 410 1,037 496 541 -3 2 -5
EB1—TH 276 669 325 344 2 0 2
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£A—TH 334 805 370 435 6 0 6
EAZ-TH 122 1,583 718 865 -9 0 -9
£E&=TH 157 433 186 247 0 1 -1
EAMTH 124 254 117 137 -2 -1 -1
E&ATH 376 9IM 450 491 9 0 9
 / F 509 1,269 540 729 8 -1 9
WEE—TH 293 647 298 349 -2 0 -2
WmEE"TH 249 582 258 324 4 3 1
WBEE=TH 182 401 179 222 -1 0 -1
WmEEZMTH 102 252 106 146 1 0 1
WA AHB—TH 255 532 247 285 -2 -1 -1
WA AHB=-TH 174 418 194 224 0 0 0
WHAHB=TH 222 576 240 336 4 0 4
EAAHBmTAE 146 412 183 229 -1 0 -1
WA AHBAETHE 607 1,474 680 794 -6 0 -6
B o i 10, 202 24,721 11, 562 13, 159 3 -8 11
E#—TH 398 1,308 582 726 -2 -5 3
E#g_—TH 489 1,157 561 596 6 1 5
E#g=TH 733 1,665 765 900 -1 0 -1
[E#%m T B 352 748 373 375 8 0 8
E#ATH 387 965 456 509 -1 -1
E o - E 2,482 5,858 2,766 3,092 -16 1 -17
m#E—TH 487 1,140 524 616 3 0
mE#EE_"TH 394 992 454 538 6 0 6
% E=TH 263 655 300 355 -2 0 -2
[iick: 3= W= 462 1,101 518 583 5 -1 6
tBAHEERE—TH 6 17 10 7 1 0 1
+tEBHEE_-TH 463 1,100 493 607 -3 0 -3
tEBHEER=TH 491 1,247 578 669 -6 -2 -4
tEBEAHEERMNTH 492 1,151 510 641 -12 -1 -11
tEBAHEERERTH 287 698 342 356 0 0 0
EmE—TH 723 1, 841 8717 964 17 1 16
EWE_-TH 457 1,102 523 579 -2 0 -2
tEBAHE—TH 459 1, 061 510 551 0 -1
tBAHEZTH 377 915 420 495 2 0 2
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=GR OH#h i 14,170 33, 7157 16, 021 17, 736 15 -6 21
#E—TH 347 804 393 4111 2 0 2
wE#ERE-TH 776 1, 991 930 1, 061 1 0 1
#E=TH 573 1, 431 647 784 -1 -3 2
#EMTH 339 750 336 414 0 0 0
B’ERTH 384 776 358 418 1 0 1
i =} 236 473 259 214 -4 0 -4
F5—TH 479 1,106 552 554 5 -1 6
F4SHZTH 502 1,167 514 653 0 -1 1
FH5=TH 400 1,008 429 579 0 0 0
F n 272 565 272 293 -4 -1 -3
1] % 2,21 5,347 2,647 2,700 11 0 11
£ BT B 748 1,748 843 905 -6 1 -7
FL—TH 288 726 350 376 5 1 4
FILEZTH 458 1,156 542 614 5 0 5
FIL=TH 320 822 406 416 -2 0 -2
FLETH 573 1,444 705 739 -3 -1 -2
FLAETH 216 453 231 222 0 -1 1
FILARTH 105 215 113 102 2 0 2
F I 44 103 43 60 0 0 0
HH—TH 190 429 208 221 -1 1 -2
HH_-TH 390 982 483 499 0 1 -1
HH=TH 832 1,993 966 1,027 -17 2 -19
HEHEMETH 335 801 384 417 -4 -1 -3
HHETH 626 1,476 693 783 6 2 4
HHANTH 206 496 235 261 3 1 2
5] H 0 0 0 0 0 0 0
= g 1, 391 3, 352 1, 531 1,821 9 -3 12
#eElLU—TH 203 565 245 320 -1 -1 0
#HAEL_-TH 249 618 273 345 -1 0 -1
#HEIL=TH 274 615 280 335 1 -2 3
HeELMTHE 143 345 153 192 8 0 8
X iy #h = 19, 376 43,124 20, 735 22, 389 22 -16 38
Wb /7 AN 1,717 3, 850 1, 808 2,042 -3 -5 2
£-TH 743 1,330 658 672 9 1 8
£=TH 673 1,506 7128 778 3 0 3
£MmTH 761 1,700 810 890 11 1 10
5RTH 1,128 2,754 1, 355 1,399 -8 -2 -6
=1 837 1,994 940 1,054 3 -2 5
INRA—TH 568 1,036 524 512 11 1 10
INERZTH 922 1,994 993 1, 001 -7 0 -7
N R B 52 117 57 60 0 0 0
RKw—TH 287 495 232 263 -1 1 -2
KM=TH 889 1,562 742 820 -1 -4 -3
AKM=TH 554 1,108 519 589 7 0 7
AKmTH 738 1,621 794 827 1 1 0
AKMATH 787 1,751 806 945 15 -1 16
KMARTH 568 1,140 547 593 2 1 1
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X fin 1,338 3,150 1,507 1,643 -2 -3 1
=) 5 296 861 418 443 -4 1 -5
EHE—TH 1,656 3,775 1, 850 1,925 1 0 1
b= 1] 1, 961 4 4717 2,195 2,282 -1 2 -3
SR—TH 193 465 223 242 6 2 4
SRE-TH 358 931 435 496 -8 -1 -1
SR=TH 248 5N 287 284 -2 0 -2
SRMTH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 312 794 367 427 -1 -1 0
SREZTH 203 456 220 236 -1 -2 1
SRE=TH 248 584 262 322 -3 0 -3
SREMTH 458 1,070 488 582 -1 -3
SRERTH 168 424 195 229 6 0
SRENRTH 339 | 355 386 -1 -2 1
SREtETH 374 867 420 447 -3 -1 -2
E #H i = 10,120 25, 030 11, 954 13,076 -11 -4 -7
&—TH 403 798 114 384 0 0 0
[fAA—TH 630 1,385 675 710 -5 0 -5
FBA=TH 744 1,522 707 815 -1 -1 -6
iz PN 1,793 4 591 2,157 2,434 7 0 7
E#—TH 579 1,270 586 684 -4 1 -5
EE_-TH 674 1,686 801 885 7 0 7
E#H=TH 248 616 304 312 -1 -1
EHEMONTH 232 657 297 360 0 0 0
ERETH 457 1,141 551 590 1 -1 2
HE VN 2,220 5,585 2,737 2,848 -7 1 -8
177 (] 1,416 3, 756 1,789 1,967 -1 -3 2
£5] =B 724 2,023 936 1,087 -1 0 -1
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